17)

(19)

(21)

(23)

(25)

Yi=X Y, =2-X Y; =0
x=2-x0 x=1 (Thisistheintersectionof y, and y,)
Xx=0 (intersectionof y, and y3)' 2-x=00 x=2 (intersectionof y, and y,)

J’lxdx+f(2 x)dx—g % %x——x
f)=v3x+L  g(x)=x+1

F(X)=g(x) = V3x+1=x+1 e V/3x=x = 3x=x* = He —ax+ 32

0 40 4
3 .3 __§ §
‘:E@ g E —iE@X— 212
Dx—O,x—B
I((\/§+1) (x+1))d I( 3X — x)d =B?\/_ (3/2)_%)(2%::%

f(y)=y% a(y)=y+2

f(y)=g(y) = y’=y+2 ==y’ -y-2=0< (y-2)(y+D) =0

Oy=-1 y=2
1 f 9

j((y+2) y)iy (y +y+2)1y y3+—y2+2y ==
2 H, =~ 2

f(y)=y?+1 g(y)=0, y=-1 y=2

f(-1) =2and f(2) =50 x=2and x =5aspointsof intersection

Oy*+1=20 y=+10 y=-1

Oy*+1=50 y=2

2 1 f

0 Z+1)dx = :+ =6

[LO7+D) By g

f(x):ﬂ, x=0, y=1, y=4

X

——1D 4=x

4 ﬂ=4Dx 1
X

UNEs EBX 4inx]¢ = 4ln4-In1] = 4In4=8In2




